MATEMATICAS 42 ESO

ECUACIONES

1. RESOLVER LAS SIGUIENTES ECUACIONES BICUADRADAS

x*-5x*+4=0
x*-5x*-36=0
x*+13x°+36=0
x*-13x°+36=0
x*-4x*+3=0
x*+21x*-100=0
x+2x°+3=0

x*-41x*+400=0
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36x°-13x°+1=0
. X*-77x*-324=0

=
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. X*-45x%+324=0
. X'+2x°-8=0

. X*+7x°-8=0
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. x*-16=0
. x*+16=0
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. x*-16x°=0

. x*-64=0

. (+2)(x*-2)+3x°=0
. 5X°=(6+x°)(6-X")
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. (=27 =5(1+x)(1-x)+1
. (C#1)5-1)+3x7=3
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. 5(x+1)(x-1)=1-(x"-2)°
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- (x+3x-3)= 2]

. () -X)=(x-2) +x(x+4)

(2CH)C-3)=(#1)(x*-1)-8

. (3+X)(3-x)x"-2x(x-3)=(x+3)"-1

(Soluc: x=£1, x=12)
(Soluc: x=%3)

(Soluc: Asoluc)
(Soluc: x=£2, x=%3)
(Soluc: x=1+1, x=+ 7 )
(Soluc: x=42)

(Soluc: Asoluc)
(Soluc: x=t4, x=15)
(Soluc: x=t1/2, x=+1/3)
(Soluc: x=49)

(Soluc: x=1£3, x=16)
(Soluc: x=+V2)
(Soluc: x=1, x=-2)
(Soluc: x=12)

(Soluc: Asoluc)
(Soluc: x=0, x=14)
(Soluc: x=+2)

(Soluc: x=41)

(Soluc: x=42)

(Soluc: x=42)

(Soluc: x=+ \r?, x=4 vfi)
(Soluc: x=+1)

(Soluc: x=+1)

(Soluc: x=42, x=4V2)
(Soluc: x=41)

(Soluc: x=+5)
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. xz(x+1 )(x-1 )=(2—x)2+(x+4)x

2

x -32 - 28 (Soluc: x=14, x=15)

4 x*-9
_2 x-18 (Soluc: x=0; x=45)
x -9 72
mzx’ —2x (Soluc: x=+£3)

x°+2x%
-1 (2430 -3) 1 gppe x=s)
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(2x+1)2'(xx +1)(x2-1)=3(x?1)+1 (Soluc: x=£V2)
(2x +1) _(x’+2)(x’—2)=4x+1 (Soluc: x=+2)
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Cxa2x-2) X (F-2007+2%) 5 (sop x=72)
2 -
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@2 -1)x2+3) @2 +1)x2-3)
4 3

= 4x2 (x=#1, x=%V3)

@2 +2)3°-2) (3x-1) IEICES PP
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(2¢ -8)(2¢" +8x)(x" —2¢* -8) =0 (x=42, x=0, x=-4)

(9-42)(9x—4x)(4x* —21x3+27)=0
(Soluc: x=£2/3, x=0, x=9/4, x=%3/2, x=£V3)

341 Bx-1

Bx+1 3x° -1

(Soluc: x=42, x=0)

@3 +3)2x°-3)  (2x-3)°
2 3

41
=4x ——— (Sol: x=41)
6
(Soluc: x=+2)
Ejercicios libro ed. Editex: pag. 54: 9; pag. 62: 31

(sencillas); pag. 63: 32 y 33 (con paréntesis y
algun denominador)



